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Now .assume consumption falls by 7% 

Apparent new yield (as before) 120 

Actual new yield 93/100 X 120 = 112 

Actual increase 112 - 100 = 12 

Instead of getting a 20% increase in yield, we get 12% only. The 

price however will reflect the 20% duty increase, not the 12% 

increase in yield. It follows therefore that the RPI must go up 

disproportionately to the increase in yield. 

3. Nor is the matter put right if we reduce the weight of tobacco 

in the Index by the fall in consumption. The index must still use 

the actual price (reflecting in the example the 20% increase in 

duty) and this would be reduced only by a factor equal to 7% 

(again to take the example quoted) of the weighting of tobacco in 

the index. 

Tobacco accounts for about 4% of expenditure in the RPI. An �~�n�c�r�e�a�s�e� 

of 20% in duty produces an increase very approximately of 10% in 

price. A 20% increase in duty therefore puts up �t�~�e� RPI by 0.4%. 

If we were noW to reduce the weighting of tobacco in the Index by 

7%, the expected fall in consumption, the effect on the Index would 

be to produce an increase of 10% multiplied by 93/100 X 4% ie 

0.37% instead of 0.4%. In other words the reduction in the rise 

in the RPI would be of the order of a tenth (10%). The reduction 

in the yield of the duty in the example is 40% (ie 12 instead of 20). 

Consequently re-weighting the RPI doesn't significantly alter the 

position. 

4. In the case of items such as petrol which are not so sensitive 

to price increases, the process described above has very little 

effect with the result that the increase in- yield and the increase 

in the RPI are much �i�n �~ �l�i�n�e� with one another. 

�~�.�c� . 
.. �~� 

LORD COCKFIELD 

21 December 1979 
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